Choose the adjective+noun phrase that makes MORE sense

Instructions [

In every question you will be presented two pairs of adjective+noun phrases. The task required is to decide which one of the two
makes MORE sense. For example:

1. blind starch
2. red rose

In this example, “red rose™ makes MORE sense than "blind starch”, since the latter cannot see and so it cannot be blind either.

Notice that sometimes both adjective+nouns in the pair might seem strange or incomprehensible; even in this case, mark the
adjective+noun which seems LESS strange.

Make sure to judge each pair regardless of which noun might follow it: for instance, do not judge "bisyllabic family” fine just
because it can be part of "bisyllabic family name” (= a family name made up of 2 syllables). Just consider the Adjective+Noun pair
given.

Beware: the gold items (those for which we know the answer) try to match the level of complexity of the whole task, so you are
likely to encounter gold items which require careful thinking and are not easily adjudicated.



